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FORM 1 MATHEMATICS TERM 3 2023

MARKING SCHEME
. a) BODMAS 2. Numerator
Numerator: 0.24+0.243
=80+10+- -5%X6 =0.483v'M1
=80-2x6 Denominator
=80-12 0.08+-0.4
=68 vM1 =0.2vM?2
Denominator 0.483
=6x 9-2+12 0.2
=54-2+12 =2.415v Ans
=64v'M2
=88 _ 1i or Es/Ans
o4 16 16 G.CDXLCM
3. @) _G.C. .C.
2 k654 b) The other number = ———
318|27 = 622’616 VM1
36 |9 =36v'Ans
60r9
2113 6X%X216
54
2%x3x3=18v Ans vM1 =24vAns
3(3x+4)+6(x+1)—4(2x+8) - b) 2x+8=14v' M1
a) 12 vM1 2x=14-8
4 O9x+12+6x+6—8x—32 2X=6
. e VM2 X=3vAns
7x—14
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_0 7. Men length days
6. Lengtlrljf an arc ;%60 2nr 4 32 19
88 cm=— X2 X —XrvM1l 8 ? 8
36088 ¢ Download this and other FREE reyision maEerléq om ’h§ /:t 2ac% r olke/notes
88x 10 = —T atio o?ciays 815235/t
Length of the wall= % X 2 X 32




880x7
r=

TN E
r=70cm v'Ans 42.67vAns
100 g _ % = %«Ml
100%x960
= 1200vM1 :

80 Stationery = of 2=Lvm2
1500 — 1200 = 300v'M2 5 ¢ 5 R
Z1L X 100 = 25%vAns S =3

10 2

=200

2

2X200

=400v' Ans

11. a: b =a:b:c
10. 1 US dollar=90.45 5(2:3)=10:15vM1
750 bie

3(5:9)=15:27

7500X9O.45=678’375‘/M1

678,375-638,676=39,699 vM2

1 sterling po:gd:<132.33
239699

a:c=10:27v Ans

39699 =300 sterling poundv’Ans

132.33 ' ) .
12. Let 1=0.4074..........(0) 13.Time used=45x 2=90mins
10r=4.0740.......... (i1) Break=15mins

100 r =40.7407......(iii) vM1
1000r=407.4074. ... (iv)

1000r=407.4074

Extra=15 mins
Penalties=15mins
90+15+15+15=135minsv' M1
1hr=60min

r=0.4074 v M2
99r=407 135
R=207 _ 11, 222 15minvm1
999 27
+ 11:50
2:15
14.05 or 2.05pmv'Ans
14. Bh=36cm? 15.Now future
45236" '?\/'/é , Man=3x 3x+5
—Jem Son=x X+5
P=6+9+6+9=30cmv” Ans I+5+X+5=74v' M1
4x+10=74
4X=64v'M2
Download this and other FREE reyision Xﬁ%&r@yrﬁom https://teacher.co.ke/notes
Son=16yrs
Man=48yrs 1rx/Ans




16. (7.21 X 10712 + V16.24 x 102
51.98x 10~2+4.0298x 101vM1

= 0.5198 + 40.298v' M2

= 40.8178v' Ans

17.a) 20% of the profit
=running the business

20« 43200vM1
100
= Kshs 8,640vAns

e

17.b) 15% of profit=shared equally

17.c)Kori received

15
oo x:ls;ozoo = 6,480v M1 % x28.080
z/::)cgazs i‘:(;‘;w;oso»/ M3 ~10,800
- - = + = v
28,080=shared as per the ratio of contribution 10800_ 3240=14040vM1
Ratio=Korir : Mue 1cow=1800
40,0000 : 64,000
. 5 : 8 14040
Mue = x28,080=17,280v' M4 1X14040/M2
3240+17280=20,520v' Ans _71300
7 COWSY'Ans
18.a) volume=Lx W X H 18.b) Density=———
=36X 25X 9 _ ~ volume
=8100m3~/M1 |\:{|5%S()S—3392I’2138Ity>< volume
1,22 _ 3 = X
. X . X7X7X36=2772m>vM2 ~7,092,000kgv' M1
volume of concerete = 8100 — 2772v'M3 Ratio 1:4:4
—_ 3
=5328m°v'Ans Mass of cement:$ x 7,992,000
=888,000kgv' Al
Mass of sandzg X 7,992,000
=3,552,000kgv' A2
Mass of ballast= g X 7992000
=3,552,000kgv'A3
18¢) 10,000=111m3 19.a) 1930h
: 5 -1230vM1
=5328m 700
10,000%x5328
—————vM1 =7hrsv Ans

111
=Ksh 480,000v'Ans

19b) arrival=1455h
Departure=1830
1830

=3hrs 35minsv'Ans

19d) stationy 1445
- 1350
_00.55vMm1
=55mins
Station n 1830
-1455
3 hr 35min
Station yv'Ans

19.e) average SpeedzDL_‘WBB%nload this and other FREE re
420 Time

=—v'M1
7

ia&a)al&tﬁ b@rrbr““s://teacher.co.ke/notes
Let g be goat
5b+30g=117000




=60km/hv' Ans

4b+25g9=94,750v M1
4(5b+30g=117,000
5(4b+259=94750)
=20b+120g=468,000v'M2
20b+1259=473750 -

0 -5g=-5750
g=1150vA1
5b=82500
b=16,500vA2

20.b) abdul :
40% profit per bull
30% profit per goat
22 %16500

100

= 6600
16500+6600=23,100v' M1
% X 1150 = 345

1150 + 345 = 1495 per goatvM2
Abdul had 5 bulls and 30 goats
(5% 231000+(1495x% 30)
=115,500+44850
=160,350v'M3
Ali

50% profit per bull

40% profit per goat
15700 X 16500=8250

16500 + 8250 = 24,750

% x 1150 = 460

460 + 1150 = 1610vM4
Ali had 4 bulls and 30 goats
(4% 24750)+(25%x1610)
99000+40250

=139,250

Abdul =160,350-117000
=43350
Ali=139-94750=44500v'"M5
Hs Aliv Ans

21.8)(i) 7 X = X 140 =
220mvM1

220+200+220+200=840mv'An
S

(i1) 200x 140 = 28000m?
§x70x70=
15400m?v M1
28000-15400
=12600m?
1ha=10,000m?
12600m?v' M2

12600%x1

10000
=1.26hav Ans

b(i) 1ha>:2(10,000
1.26ha

1.26x5000000v' M1
=6,300,000 shillingsv’Ans

B(ii) 14,760,000-6,300,000
=8,460,000vM1

8,460,000
X 100vM2
6,300,000

134.28
=134.3%v Ans
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